
MATHS

BOOKS - NCERT EXEMPLAR

RATIONAL NUMBERS

Solved Examples

1. In Examples 1 to 4, there are four options,

out of which one is correct. 

Choose the correct one. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qscBnmsgg38O


Which of the following rational numbers is

equivalent to ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

3

2

4

9

4

6

9

4

https://dl.doubtnut.com/l/_qscBnmsgg38O


2. there are four options, out of which one is

correct. 

Choose the correct one. 

Which of the following rational numbers is in

standard form?

A. 

B. 

C. 

D. 

Answer: C

20

30

10

4

1

2

1

−3

https://dl.doubtnut.com/l/_i9D7u6dgDNtN


Watch Video Solution

3. In Examples 1 to 4, there are four options,

out of which one is correct. 

Choose the correct one. 

The sum of  is

A. 

B. 

C. 

D. 

and
−3

2

1

2

−1

−2

4

3

https://dl.doubtnut.com/l/_i9D7u6dgDNtN
https://dl.doubtnut.com/l/_AoZjvC2Se8Ja


Answer: A

Watch Video Solution

4. In Examples 1 to 4, there are four options,

out of which one is correct. 

Choose the correct one. 

The value of  is

A. 

B. 

C. 

− −
4

3

−1

3

−2

−3

2

https://dl.doubtnut.com/l/_AoZjvC2Se8Ja
https://dl.doubtnut.com/l/_g747IPjtqbT9


D. 

Answer: D

Watch Video Solution

−1

5. In Examples 5 and 6, fill in the blanks to

make the statements true. 

There are _______ number of rational numbers

between two rational numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_g747IPjtqbT9
https://dl.doubtnut.com/l/_jfp6NJwC0Cne
https://dl.doubtnut.com/l/_E0fikjalLskg


6. In Examples 5 and 6, fill in the blanks to

make the statements true. 

The rational number _________ is neither

positive nor negative.

Watch Video Solution

7. state whether the statements are True or

False. 

In any rational number , denominator is

always a nonzero integer.

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_E0fikjalLskg
https://dl.doubtnut.com/l/_s8EZCojAiBvx


8. state whether the statements are True or

False. 

"To reduce the rational number to its standard

form, we divide its numerator and

denominator by their HCF”.

Watch Video Solution

9. state whether the statements are True or

False. 

https://dl.doubtnut.com/l/_s8EZCojAiBvx
https://dl.doubtnut.com/l/_ofq6MBeMyNtt
https://dl.doubtnut.com/l/_flqlQUwTzXFI


“All rational numbers are integers”.

Watch Video Solution

10. List three rational numbers between

.

Watch Video Solution

and
4

5

5

6

11. Which of the following pairs represent

equivalent rational numbers ? 

and
7

12

28

48

https://dl.doubtnut.com/l/_flqlQUwTzXFI
https://dl.doubtnut.com/l/_i2IQUY0bC4DL
https://dl.doubtnut.com/l/_lszR8RPJXhNw


Watch Video Solution

12. Which of the following pairs represent

equivalent rational numbers ? 

Watch Video Solution

and
−2

−3

−16

24

13. Write four more rational numbers to

complete the pattern: 

, ___ , ___, ____, ____ ., ,
−1

3

−2

6

−3

9

https://dl.doubtnut.com/l/_lszR8RPJXhNw
https://dl.doubtnut.com/l/_EqkT5iXWqkdg
https://dl.doubtnut.com/l/_g4xhrmSYOm2G


Watch Video Solution

14. Find the sum of .

Watch Video Solution

−4 and − 7
5

6

3

4

15. Find the product of .

Watch Video Solution

−2 and 5
3

4

6

7

https://dl.doubtnut.com/l/_g4xhrmSYOm2G
https://dl.doubtnut.com/l/_JYgIWNfSRZgE
https://dl.doubtnut.com/l/_baxVxXJvTx65


16. Match column I to column II in the

following: 

Watch Video Solution

Column I Column II

(i) ÷ (a) − 1

(ii) ÷ (b)

(iii) ÷ ( − 1) (c)

(iv) ÷ (d)

(v) ÷ ( ) (e)1

3

4

3

4

1

2
4
4

− 2

3

2
3

3

2

3

4
1
2

3

8

5

7

− 5

7

17. Find the reciprocal of .

Watch Video Solution

+ −
2

11

5

55

https://dl.doubtnut.com/l/_rCMs1wFf5mZx
https://dl.doubtnut.com/l/_bLEq0oChyaIc


Exercise

1. A rational number is defined as a number

that can be expressed in the form , where p

and q are integers and

A. 

B. 

C. 

D. 

p

q

q = 0

q = 1

q ≠ 1

q ≠ 0

https://dl.doubtnut.com/l/_bLEq0oChyaIc
https://dl.doubtnut.com/l/_yBWGAhqNmTa7


Answer:

Watch Video Solution

2. Which of the following rational numbers is

positive?

A. 

B. 

C. 

D. 

−8

7

19

−13

−3

−4

−21

13

https://dl.doubtnut.com/l/_yBWGAhqNmTa7
https://dl.doubtnut.com/l/_ZInefshMlcOF


Answer:

Watch Video Solution

3. Which of the following rational numbers is

negative?

A. 

B. 

C. 

D. 

−( )
−3

7

−5

−3

9

8

3

−7

https://dl.doubtnut.com/l/_ZInefshMlcOF
https://dl.doubtnut.com/l/_bTuQgkQc8jgv


Answer:

Watch Video Solution

4. In the standard form of a rational number,

the common factor of numerator and

denominator is always:

A. 0

B. 1

C. 

D. 

−2

2

https://dl.doubtnut.com/l/_bTuQgkQc8jgv
https://dl.doubtnut.com/l/_hWPHm62MOJU9


Answer:

Watch Video Solution

5. Which of the following rational numbers is

equal to its reciprocal?

A. 1

B. 2

C. 

D. 0

1

2

https://dl.doubtnut.com/l/_hWPHm62MOJU9
https://dl.doubtnut.com/l/_6VDky7JzvLqE


Answer:

Watch Video Solution

6. The reciprocal of  is

A. 3

B. 2

C. 

D. 0

Answer:

1

2

−1

https://dl.doubtnut.com/l/_6VDky7JzvLqE
https://dl.doubtnut.com/l/_psDF7EcEwsiO


Watch Video Solution

7. The standard form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−48

60

48

60

−60

48

−4

5

−4

−5

https://dl.doubtnut.com/l/_psDF7EcEwsiO
https://dl.doubtnut.com/l/_6t6lILqY064I


8. Which of the following is equivalent to  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

5

5

4

16

25

16

20

15

25

https://dl.doubtnut.com/l/_6t6lILqY064I
https://dl.doubtnut.com/l/_gxMXuDx4T5N4


9. How many rational numbers are there

between two rational numbers?

A. 1

B. 0

C. unlimited

D. 100

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jlvAUUUwI4P4
https://dl.doubtnut.com/l/_ZyUf88v1xZEA


10. In the standard form of a rational number,

the denominator is always a

A. 0

B. negative integer

C. positive integer

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZyUf88v1xZEA


11. To reduce a rational number to its standard

form, we divide its numerator and

denominator by their

A. LCM

B. HCF

C. product

D. multiple

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_twSiHy9oPKlJ


12. Which is greater number in the following:

A. 

B. 0

C. 

D. 

Answer: C

Watch Video Solution

−1

2

1

2

−2

https://dl.doubtnut.com/l/_l7t0bqYgRMsA


13. fill in the blanks to make the statements

true. 

 is a ______ rational number.

Watch Video Solution

−
3

8

14. fill in the blanks to make the statements

true. 

1 is a ______ rational number.

Watch Video Solution

https://dl.doubtnut.com/l/_YnlUV1jbAsPI
https://dl.doubtnut.com/l/_yK7sgHt8ESLj
https://dl.doubtnut.com/l/_ANXAM4qlmb8P


15. fill in the blanks to make the statements

true. 

The standard form of  is _______ .

Watch Video Solution

−8

−36

16. fill in the blanks to make the statements

true. 

The standard form of  is ____ .

Watch Video Solution

18

−24

https://dl.doubtnut.com/l/_ANXAM4qlmb8P
https://dl.doubtnut.com/l/_HGETGg8hip4h
https://dl.doubtnut.com/l/_FIBG6LrUa6Pf


17. fill in the blanks to make the statements

true. 

On a number line,  is to the ____ of zero

(0).

Watch Video Solution

−1

2

18. fill in the blanks to make the statements

true. 

On a number line,  is to the ___ of zero (0).

Watch Video Solution

4

3

https://dl.doubtnut.com/l/_FIBG6LrUa6Pf
https://dl.doubtnut.com/l/_QbDtLvtDNvrs
https://dl.doubtnut.com/l/_UNsp5v625qXx


19. fill in the blanks to make the statements

true. 

 is _____ than .

Watch Video Solution

−
1

2

1

5

20. fill in the blanks to make the statements

true. 

 is ___ than 0.

Watch Video Solution

−
3

5

https://dl.doubtnut.com/l/_UNsp5v625qXx
https://dl.doubtnut.com/l/_OQjwbrMt63O8
https://dl.doubtnut.com/l/_df9NCI4xpsZI


21. fill in the blanks to make the statements

true. 

 represent ______ rational

numbers.

Watch Video Solution

and
−16

24

20

−16

22. fill in the blanks to make the statements

true. 

 represent ______ rational

numbers.

Watch Video Solution

and
−27

45

−3

5

https://dl.doubtnut.com/l/_df9NCI4xpsZI
https://dl.doubtnut.com/l/_ewjEt9l8doPV


23. fill in the blanks to make the statements

true. 

Additive inverse of  is _____ .

Watch Video Solution

2

3

24. fill in the blanks to make the statements

true. 

 _____ .

Watch Video Solution

+ =
−3

5

2

5

https://dl.doubtnut.com/l/_ewjEt9l8doPV
https://dl.doubtnut.com/l/_IWw3WJ3ehQxT
https://dl.doubtnut.com/l/_KRgvJ3u7ZIGn


25. fill in the blanks to make the statements

true. 

 _______ .

Watch Video Solution

+ =
−5

6

−1

6

26. fill in the blanks to make the statements

true. 

 _____ .

Watch Video Solution

× ( ) =
3

4

−2

3

https://dl.doubtnut.com/l/_KRgvJ3u7ZIGn
https://dl.doubtnut.com/l/_tR6AGzKMw7SJ
https://dl.doubtnut.com/l/_iVPze2k8FO5x


27. fill in the blanks to make the statements

true. 

 _____ .

Watch Video Solution

× ( ) =
−5

3

−3

5

28. fill in the blanks to make the statements

true. 

Watch Video Solution

=
−6

7
_
42

https://dl.doubtnut.com/l/_pgjNhYCnOzhR
https://dl.doubtnut.com/l/_pQ4mVBVLU0yJ
https://dl.doubtnut.com/l/_8LzP5BfiqlGr


29. fill in the blanks to make the statements

true. 

Watch Video Solution

=
1

2

6

_

30. fill in the blanks to make the statements

true. 

 _______ .

Watch Video Solution

− =
−2

9

7

9

https://dl.doubtnut.com/l/_8LzP5BfiqlGr
https://dl.doubtnut.com/l/_gGTK3bPulqYt
https://dl.doubtnut.com/l/_oarPgLCwyFDf


31. fill in the boxes with the correct symbol >,<

or =. 

Watch Video Solution

□
7

−8

8

9

32. fill in the boxes with the correct symbol >,<

or =. 

Watch Video Solution

□
3

7

−5

6

https://dl.doubtnut.com/l/_oarPgLCwyFDf
https://dl.doubtnut.com/l/_EhpqQ3Kr7Lvb


33. fill in the boxes with the correct symbol >,<

or =. 

Watch Video Solution

□
5

6

8

4

34. fill in the boxes with the correct symbol >,<

or =. 

Watch Video Solution

□
−9

7

4

−7

https://dl.doubtnut.com/l/_mDdBeFg6xxar
https://dl.doubtnut.com/l/_LbtCMPLhrJtJ
https://dl.doubtnut.com/l/_zyQi4bfJFlyg


35. fill in the boxes with the correct symbol >,<

or =. 

Watch Video Solution

□
8

8

2

2

36. The reciprocal of ______ does not exist.

Watch Video Solution

37. The reciprocal of 1 is ______.

https://dl.doubtnut.com/l/_zyQi4bfJFlyg
https://dl.doubtnut.com/l/_OritRAf5koUS
https://dl.doubtnut.com/l/_W6I9WjSRdO48


Watch Video Solution

38.  _____ .

Watch Video Solution

÷ ( ) =
−3

7

−7

3

39.  ______ .

Watch Video Solution

0 ÷ ( ) =
−5

6

40.  _______ .0 × ( ) =
−5

6

https://dl.doubtnut.com/l/_W6I9WjSRdO48
https://dl.doubtnut.com/l/_xOMcNKykvnXZ
https://dl.doubtnut.com/l/_AxUNqkTZOiwX
https://dl.doubtnut.com/l/_XTffeTqlhr7F


Watch Video Solution

41. _____ .

Watch Video Solution

× ( ) = 1
−2

5

42. The standard form of rational number 

is ______.

Watch Video Solution

– 1

https://dl.doubtnut.com/l/_XTffeTqlhr7F
https://dl.doubtnut.com/l/_tn3TBifomNXG
https://dl.doubtnut.com/l/_dHQSVT8RAhnW


43. If  is a common divisor of , then 

Watch Video Solution

m a and b

=
a

b

a ÷ m

___

44. If p and q are positive integers, then  is a

______ rational number and  is a ______

rational number.

Watch Video Solution

p

q

(p)( − q)

https://dl.doubtnut.com/l/_g1GMaHAd4HS8
https://dl.doubtnut.com/l/_3lpLjHsKNLHp


45. Two rational numbers are said to be

equivalent or equal, if they have the same

______ form.

Watch Video Solution

46. If  is a rational number, then q cannot be

______.

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_VvVjavy4aVP9
https://dl.doubtnut.com/l/_N2d2P4IyOkzO


47. State whether the statements given are

True or False. 

Every natural number is a rational number but

every rational number need not be a natural

number.

Watch Video Solution

48. State whether the statements given are

True or False. 

Zero is a rational number.

https://dl.doubtnut.com/l/_aWQCOsgkFfk5
https://dl.doubtnut.com/l/_Teih5zebZKm3


Watch Video Solution

49. State whether the statements given are

True or False. 

Every integer is a rational number but every

rational number need not be an integer.

Watch Video Solution

50. State whether the statements given are

True or False. 

https://dl.doubtnut.com/l/_Teih5zebZKm3
https://dl.doubtnut.com/l/_J1XntvDmKzVt
https://dl.doubtnut.com/l/_sUoNMP0LqEXj


Every negative integer is not a negative

rational number.

Watch Video Solution

51. State whether the statements given are

True or False. 

If  is a rational number and m is a non-zero

integer, then 

Watch Video Solution

p

q

=
p

q

p × m

q × m

https://dl.doubtnut.com/l/_sUoNMP0LqEXj
https://dl.doubtnut.com/l/_MsoHLoKxX647


52. State whether the statements give are True

or False. 

If  is a rational number and m is a non-zero

common divisor of p and q, then 

Watch Video Solution

p

q

=
p

q

p ÷ m

q ÷ m

53. State whether the statements given are

True or False. 

In a rational number, denominator always has

to be a non-zero integer.

https://dl.doubtnut.com/l/_mxPoSW2c6aad
https://dl.doubtnut.com/l/_suMYUS4kSWJL


Watch Video Solution

54. State whether the statements given are

True or False. 

If  is a rational number and m is a non-zero

integer, then  is a rational number not

equivalent to .

Watch Video Solution

p

q
p × m

q × m
p

q

55. State whether the statements given are

True or False. 

https://dl.doubtnut.com/l/_suMYUS4kSWJL
https://dl.doubtnut.com/l/_pOPNFWPGSDtp
https://dl.doubtnut.com/l/_drtp3AeViPXC


Sum of two rational numbers is always a

rational number.

Watch Video Solution

56. State whether the statements given are

True or False. 

All decimal numbers are also rational

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_drtp3AeViPXC
https://dl.doubtnut.com/l/_HaO3Yzuhqc8S


57. State whether the statements given are

True or False. 

The quotient of two rationals is always a

rational number.

Watch Video Solution

58. State whether the statements given are

True or False. 

Every fraction is a rational number.

Watch Video Solution

https://dl.doubtnut.com/l/_kffvCfAtIEgU
https://dl.doubtnut.com/l/_PGVDkN12DGSU


59. State whether the statements given are

True or False. 

Two rationals with different numerators can

never be equal.

Watch Video Solution

60. State whether the statements given are

True or False. 

8 can be written as a rational number with any

integer as denominator.

https://dl.doubtnut.com/l/_PGVDkN12DGSU
https://dl.doubtnut.com/l/_Om7HbMaYV5ay
https://dl.doubtnut.com/l/_Qp9Q7juZ7VOM


Watch Video Solution

61. State whether the statements given are

True or False. 

 is equivalent to .

Watch Video Solution

4

6

2

3

62. State whether the statements given are

True or False. 

https://dl.doubtnut.com/l/_Qp9Q7juZ7VOM
https://dl.doubtnut.com/l/_wEd5W54F1jql
https://dl.doubtnut.com/l/_jpBOHT2TJgBT


The rational number  lies to the right of

zero on the number line.

Watch Video Solution

−3

4

63. State whether the statements given are

True or False. 

The rational numbers  are on

the opposite sides of zero on the number line.

Watch Video Solution

and
−12

−5

−7

17

https://dl.doubtnut.com/l/_jpBOHT2TJgBT
https://dl.doubtnut.com/l/_lILNcWSZaqqj


64. State whether the statements given are

True or False. 

Every rational number is a whole number.

Watch Video Solution

65. State whether the statements given are

True or False. 

Zero is the smallest rational number.

Watch Video Solution

https://dl.doubtnut.com/l/_hqkqtLiRnoN4
https://dl.doubtnut.com/l/_lp09LwHYtGPl
https://dl.doubtnut.com/l/_T0LRI1A4WUUi


66. Match the following: 

Watch Video Solution

Column I Column II

(i) ÷ (a)

(ii) ÷ (b) − 1

(iii) ÷ ( − 1) (c)1

(iv) ÷ (d)

(v) ÷ ( ) (e)

a

b

a

b

−a

b

a

b

c

d

a

b

a

b

−a

b

bc

ad

b
a

d
c

ad

bc

67. Write each of the following rational

numbers with positive denominators:

., ,
5

−18

15

−28

−17

−13

https://dl.doubtnut.com/l/_T0LRI1A4WUUi
https://dl.doubtnut.com/l/_u8WNnWeZucHl


Watch Video Solution

68. Express  as a rational number with

denominator: 

36

Watch Video Solution

3

4

69. Express  as a rational number with

denominator: 

-80

Watch Video Solution

3

4

https://dl.doubtnut.com/l/_u8WNnWeZucHl
https://dl.doubtnut.com/l/_r6PU5qLJqlkI
https://dl.doubtnut.com/l/_hF8lp5srHTQq


70. Reduce each of the following rational

numbers in its lowest form: 

Watch Video Solution

−60

72

71. Reduce each of the following rational

numbers in its lowest form: 

Watch Video Solution

91

−364

https://dl.doubtnut.com/l/_hF8lp5srHTQq
https://dl.doubtnut.com/l/_SrzSsSIMg6mI
https://dl.doubtnut.com/l/_jxfZ3kcgADJy


72. Express each of the following rational

numbers in its standard form: 

Watch Video Solution

−12

−30

73. Express each of the following rational

numbers in its standard form: 

Watch Video Solution

14

−49

https://dl.doubtnut.com/l/_jxfZ3kcgADJy
https://dl.doubtnut.com/l/_mdW7gKe3SKXv
https://dl.doubtnut.com/l/_Gi2suUpRwiJ6


74. Express each of the following rational

numbers in its standard form: 

Watch Video Solution

−15

35

75. Express each of the following rational

numbers in its standard form: 

Watch Video Solution

299

−161

https://dl.doubtnut.com/l/_eEpcMQaNqFkK
https://dl.doubtnut.com/l/_MRXHoC69xcgc
https://dl.doubtnut.com/l/_lZ1QXY9na2tE


76. Are the rational numbers 

equivalent? Give reason.

Watch Video Solution

and
−8

28

32

−112

77. Arrange the rational numbers

 in ascending

order.

Watch Video Solution

, , , ,
−7

10

5

−8

2

−3

−1

4

−3

5

https://dl.doubtnut.com/l/_lZ1QXY9na2tE
https://dl.doubtnut.com/l/_2h8HyUMNvz4q


78. Represent the following rational numbers

on a number line: .

Watch Video Solution

, ,
3

8

−7

3

22

−6

79. If , find the value of .

Watch Video Solution

=
−5

7

x

28
x

80. Give three rational numbers equivalent to: 

−3

4

https://dl.doubtnut.com/l/_PAPzouOENmPH
https://dl.doubtnut.com/l/_lZ4RG8u5635P
https://dl.doubtnut.com/l/_HKnssqTHZ7ap


Watch Video Solution

81. Give three rational numbers equivalent to: 

Watch Video Solution

7

11

82. Write the next three rational numbers to

complete the pattern: 

, _____ , ____ , _____ .

Watch Video Solution

, , ,
4

−5

8

−10

12

−15

16

−20

https://dl.doubtnut.com/l/_HKnssqTHZ7ap
https://dl.doubtnut.com/l/_49cBZDML8HiL
https://dl.doubtnut.com/l/_rpE6AI5SYfy7


83. Write the next three rational numbers to

complete the pattern: 

, _____ , ______ , ______ .

Watch Video Solution

, , ,
−8

7

−16

14

−24

21

−32

28

84. List four rational numbers between

.

Watch Video Solution

and
5

7

7

8

https://dl.doubtnut.com/l/_rpE6AI5SYfy7
https://dl.doubtnut.com/l/_0DOm8CZVenkC
https://dl.doubtnut.com/l/_8MVOfPR7Wjjx
https://dl.doubtnut.com/l/_lA4PGjLDmJym


85. Find the sum of 

Watch Video Solution

and
8

13

3

11

86. Find the sum of 

Watch Video Solution

and
7

3

−4

3

87. Solve: 

−
29

4

30

7

https://dl.doubtnut.com/l/_lA4PGjLDmJym
https://dl.doubtnut.com/l/_hGovHc2CxTzA
https://dl.doubtnut.com/l/_2SGVbaxnNIEQ


Watch Video Solution

88. Solve: 

Watch Video Solution

−
5

13

−8

26

89. Find the product of: 

Watch Video Solution

and
−4

5

−5

12

https://dl.doubtnut.com/l/_2SGVbaxnNIEQ
https://dl.doubtnut.com/l/_n50y7g8vMPYu
https://dl.doubtnut.com/l/_O6YcBf7RLIwq
https://dl.doubtnut.com/l/_97njQza1ozDa


90. Find the product of: 

Watch Video Solution

and
−22

11

−21

11

91. Simplify: 

Watch Video Solution

× + ×
13

11

−14

5

13

11

−7

5

https://dl.doubtnut.com/l/_97njQza1ozDa
https://dl.doubtnut.com/l/_sr8OdiQfpk1T


92. Simplify: 

Watch Video Solution

× − ×
6

5

3

7

1

5

3

7

93. Simplify: 

Watch Video Solution

÷ ( )
3

7

21

−55

https://dl.doubtnut.com/l/_TuYJZDsmOUNv
https://dl.doubtnut.com/l/_wrhJYUmvvEpR


94. Simplify: 

Watch Video Solution

1 ÷ ( − )
1

2

95. Which is greater in the following? 

Watch Video Solution

,
3

4

7

8

https://dl.doubtnut.com/l/_26U8Lbzu5HJG
https://dl.doubtnut.com/l/_wWcMMNGptJ8Y


96. Which is greater in the following? 

Watch Video Solution

−3 , 3
5

7

1

9

97. Write a rational number in which the

numerator is less than  and the

denominator is greater than .

Watch Video Solution

−7 × 11

12 + 4

https://dl.doubtnut.com/l/_oufgO0J9t2Fh
https://dl.doubtnut.com/l/_vhiAwLEeToZr


98. If . then evaluate 

.

Watch Video Solution

x = and y =
1

10

−3

8

x + y, x − y, x × y and x ÷ y

99. Find the reciprocal of the following: 

Watch Video Solution

( × ) + ( × 6)
1

2

1

4

1

2

https://dl.doubtnut.com/l/_gJUcf8AvuCtR
https://dl.doubtnut.com/l/_jQc6grYLgOuF


100. Find the reciprocal of the following: 

Watch Video Solution

×
20

51

4

91

101. Find the reciprocal of the following: 

Watch Video Solution

÷
3

13

−4

65

https://dl.doubtnut.com/l/_63TliTrvhazh
https://dl.doubtnut.com/l/_C0MeZhMK2PS2


102. Find the reciprocal of the following: 

Watch Video Solution

( − 5 × ) − ( − 3 × )
12

15

2

9

103. Complete the following table by finding

the sums: 

https://dl.doubtnut.com/l/_pz9u699pZ2Fq
https://dl.doubtnut.com/l/_ooXaNSELHtmz


Watch Video Solution

104. Write each of the following numbers in

the form , where  are integers: 


six-eighths

p

q
p and q

https://dl.doubtnut.com/l/_ooXaNSELHtmz
https://dl.doubtnut.com/l/_a6g55x3P5c93


Watch Video Solution

105. Write each of the following numbers in

the form , where  are integers: 


three and half

Watch Video Solution

p

q
p and q

106. Write each of the following numbers in

the form , where  are integers: 


opposite of 1

p

q
p and q

https://dl.doubtnut.com/l/_a6g55x3P5c93
https://dl.doubtnut.com/l/_1zkRT9C26wER
https://dl.doubtnut.com/l/_RJRWlYjrOdxE


Watch Video Solution

107. Write each of the following numbers in

the form , where  are integers: 


one-fourth

Watch Video Solution

p

q
p and q

108. Write each of the following numbers in

the form , where  are integers: 


zero

Watch Video Solution

p

q
p and q

https://dl.doubtnut.com/l/_RJRWlYjrOdxE
https://dl.doubtnut.com/l/_ZimAOHo34DXm
https://dl.doubtnut.com/l/_zc2Mw5xNYqtX


109. Write each of the following numbers in

the form , where  are integers: 


opposite of three-fifths

Watch Video Solution

p

q
p and q

110. If , then 

Watch Video Solution

p = m × t and q = n × t

=
p

q

□

□

https://dl.doubtnut.com/l/_zc2Mw5xNYqtX
https://dl.doubtnut.com/l/_k3QO5TM4Tvwh
https://dl.doubtnut.com/l/_gSU5scKGzecN


111. Given that  are two rational

numbers with different denominators and

both of them are in standard form. To

compare these rational numbers we say that: 

. If 

Watch Video Solution

and
p

q

r

s

<
□

□

□

□
p × s < r × q

112. Given that  are two rational

numbers with different denominators and

both of them are in standard form. To

and
p

q

r

s

https://dl.doubtnut.com/l/_TVzZWVpafN1D
https://dl.doubtnut.com/l/_I3GWcuelZFeN


compare these rational numbers we say that: 

, if ________ = ________

Watch Video Solution

=
p

q

r

s

113. Given that  are two rational

numbers with different denominators and

both of them are in standard form. To

compare these rational numbers we say that: 

, if 

Watch Video Solution

and
p

q

r

s

>
□

□

□

□
p × s > r × q

https://dl.doubtnut.com/l/_I3GWcuelZFeN
https://dl.doubtnut.com/l/_3CVRYV8mb7lq
https://dl.doubtnut.com/l/_Mm5PWFJdsUfK


114. In each of the following cases, write the

rational number whose numerator and

denominator are respectively as under: 

Watch Video Solution

5 − 39 and 54 − 6

115. In each of the following cases, write the

rational number whose numerator and

denominator are respectively as under: 

Watch Video Solution

( − 4) × 6 and 8 ÷ 2

https://dl.doubtnut.com/l/_Mm5PWFJdsUfK
https://dl.doubtnut.com/l/_4kBFBQnsDHCD


116. In each of the following cases, write the

rational number whose numerator and

denominator are respectively as under: 

Watch Video Solution

35 ÷ ( − 7) and 35 − 18

117. In each of the following cases, write the

rational number whose numerator and

https://dl.doubtnut.com/l/_4kBFBQnsDHCD
https://dl.doubtnut.com/l/_UVfwea2kk4O8
https://dl.doubtnut.com/l/_POfir1y8d2uV


denominator are respectively as under: 

Watch Video Solution

25 + 15 and 81 ÷ 40

118. Write the following as rational numbers in

their standard forms: 

35%

Watch Video Solution

https://dl.doubtnut.com/l/_POfir1y8d2uV
https://dl.doubtnut.com/l/_62R3IedPRWfS


119. Write the following as rational numbers in

their standard forms: 

1.2

Watch Video Solution

120. Write the following as rational numbers in

their standard forms: 

Watch Video Solution

−6
3

7

https://dl.doubtnut.com/l/_VZoprJZTc53r
https://dl.doubtnut.com/l/_wkQVYrg2xIif
https://dl.doubtnut.com/l/_3sXlP66vxlVI


121. Write the following as rational numbers in

their standard forms: 

Watch Video Solution

240 ÷ ( − 840)

122. Write the following as rational numbers in

their standard forms: 

Watch Video Solution

115 ÷ 207

https://dl.doubtnut.com/l/_3sXlP66vxlVI
https://dl.doubtnut.com/l/_3PAoTvBDU7mF
https://dl.doubtnut.com/l/_TAOLE6sVuEm1


123. Find a rational number exactly halfway

between: 

Watch Video Solution

and
−1

3

1

3

124. Find a rational number exactly halfway

between: 

Watch Video Solution

and
1

6

1

9

https://dl.doubtnut.com/l/_TAOLE6sVuEm1
https://dl.doubtnut.com/l/_cgwNCxjiRs9F


125. Find a rational number exactly halfway

between: 

Watch Video Solution

and
5

−13

−7

9

126. Find a rational number exactly halfway

between: 

Watch Video Solution

and
1

15

1

12

https://dl.doubtnut.com/l/_L8GfKpvQgbFz
https://dl.doubtnut.com/l/_oMKIHnBQoirq
https://dl.doubtnut.com/l/_7wTQ7lgWrbYE


127. Taking ,

find: 

the rational number which when added to x

gives y.

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

128. Taking ,

find: 

the rational number which subtracted from y

gives z.

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

https://dl.doubtnut.com/l/_7wTQ7lgWrbYE
https://dl.doubtnut.com/l/_6DJXj1hLSfOf


129. Taking ,

find: 

the rational number which when added to z

gives us x.

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

130. Taking ,

find: 

x = , y = and z =
−4

9

5

12

7

18

https://dl.doubtnut.com/l/_6DJXj1hLSfOf
https://dl.doubtnut.com/l/_KtVPgrVXlsdw
https://dl.doubtnut.com/l/_X4c5fXl6WPQh


the rational number which when multiplied by

y to get x.

Watch Video Solution

131. Taking ,

find: 

the reciprocal of .

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

x + y

https://dl.doubtnut.com/l/_X4c5fXl6WPQh
https://dl.doubtnut.com/l/_GY4ykDiJdxeD


132. Taking ,

find: 

the sum of reciprocals of x and y.

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

133. Taking ,

find: 

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

(x ÷ y) × z

https://dl.doubtnut.com/l/_Jv1RDBH48SbA
https://dl.doubtnut.com/l/_sZ6eyXMQBNvi
https://dl.doubtnut.com/l/_ujgqxzgwU3U7


134. Taking ,

find: 

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

(x − y) + z

135. Taking ,

find: 

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

x + (y + z)

https://dl.doubtnut.com/l/_ujgqxzgwU3U7
https://dl.doubtnut.com/l/_LqcGsDQZK2Yf
https://dl.doubtnut.com/l/_uQuLhkYDbvdB


136. Taking ,

find: 

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

x ÷ (y ÷ z)

137. Taking ,

find: 

Watch Video Solution

x = , y = and z =
−4

9

5

12

7

18

x − (y + z)

https://dl.doubtnut.com/l/_uQuLhkYDbvdB
https://dl.doubtnut.com/l/_p27iD9Q85EZR


138. What should be added to  to obtain

the nearest natural number?

Watch Video Solution

−1

2

139. What should be subtracted from  to

obtain the nearest integer?

Watch Video Solution

−2

3

https://dl.doubtnut.com/l/_pTiiasNVdWyk
https://dl.doubtnut.com/l/_76rXv0hj4mxM


140. What should be multiplied with  to

obtain the nearest integer?

Watch Video Solution

−5

8

141. What should be divided by  to obtain

the greatest negative integer?

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_2YqoQNd5zO7r
https://dl.doubtnut.com/l/_ehfAWgPAScnT


142. From a rope 68 m long, pieces of equal

size are cut. If length of one piece is m, find

the number of such pieces.

Watch Video Solution

4
1

4

143. If 12 shirts of equal size can be prepared

from 27m cloth, what is length of cloth

required for each shirt?

Watch Video Solution

https://dl.doubtnut.com/l/_Q4wU3Zgb17Oy
https://dl.doubtnut.com/l/_LjyN9vAjXHZE
https://dl.doubtnut.com/l/_98Sortmvmigu


144. Insert 3 equivalent rational numbers

between 

Watch Video Solution

and
−1

2

1

5

145. Insert 3 equivalent rational numbers

between 

Watch Video Solution

0 and − 10

https://dl.doubtnut.com/l/_98Sortmvmigu
https://dl.doubtnut.com/l/_xzsV8ELreBX4
https://dl.doubtnut.com/l/_Ot9PauP2xc2X


146. Put the (right tick), wherever applicable 

Watch Video Solution

147. ‘a’ and ‘b’ are two different numbers taken

from the numbers 1 – 50. What is the largest

value that  can have? What is the

largest value that  can have?

a − b

a + b
a + b

a − b

https://dl.doubtnut.com/l/_Ot9PauP2xc2X
https://dl.doubtnut.com/l/_bzGcQz43zYJd


Watch Video Solution

148. 150 students are studying English, Maths

or both. 62 per cent of the students are

studying English and 68 per cent are studying

Maths. How many students are studying both?

Watch Video Solution

149. A body floats  of its volume above the

surface. What is the ratio of the body

2

9

https://dl.doubtnut.com/l/_bzGcQz43zYJd
https://dl.doubtnut.com/l/_nsVF0yD9YexD
https://dl.doubtnut.com/l/_NfB50E2JI33b


submerged volume to its exposed volume? Re-

write it as a rational number.

Watch Video Solution

150. Find the odd one out of the following and

give reason.

A. 

B. 

C. 

D. 

×
4

3

3

4

×
−3

2

−2

3

2 ×
1

2

×
−1

3

3

1

https://dl.doubtnut.com/l/_NfB50E2JI33b
https://dl.doubtnut.com/l/_oxRIbRL7IoZl


Answer:

Watch Video Solution

151. Find the odd one out of the following and

give reason.

A. 

B. 

C. 

D. 

4

−9

−16

36

−20

−45

28

−63

https://dl.doubtnut.com/l/_oxRIbRL7IoZl
https://dl.doubtnut.com/l/_rFUhHF3oZg0o


Answer:

Watch Video Solution

152. Find the odd one out of the following and

give reason.

A. 

B. 

C. 

D. 

−4

3

−7

6

−10

3

−8

7

https://dl.doubtnut.com/l/_rFUhHF3oZg0o
https://dl.doubtnut.com/l/_xZFbUe5PwRY7


Answer:

Watch Video Solution

153. Find the odd one out of the following and

give reason.

A. 

B. 

C. 

D. 

−3

7

−9

15

+24

20

+35

25

https://dl.doubtnut.com/l/_xZFbUe5PwRY7
https://dl.doubtnut.com/l/_4bGGmRFYRrlY


Think And Discuss

Answer:

Watch Video Solution

154. What’s the Error? Chhaya simplified a

rational number in this manner .

What error did the student make?

Watch Video Solution

=
−25

−30

−5

6

https://dl.doubtnut.com/l/_4bGGmRFYRrlY
https://dl.doubtnut.com/l/_IXRjVjZ9hBIa
https://dl.doubtnut.com/l/_n3DxDze3C1jY


1. Give an example of two or more rational

numbers whose​ denominators with no

common factors.

Watch Video Solution

2. Tell if  is positive or

negative. Explain.

Watch Video Solution

−2 − ( − 2 )
1

5

3

16

https://dl.doubtnut.com/l/_n3DxDze3C1jY
https://dl.doubtnut.com/l/_VyDy9XBFCjKd


3. Explain how to add , without first

writing them as improper fractions.

Watch Video Solution

2 + 9
2

5

1

2

4. Explain how you can be sure that a fraction

is simplified.

Watch Video Solution

https://dl.doubtnut.com/l/_zxngRn5pLPcW
https://dl.doubtnut.com/l/_XZjJT4b2TsBx


5. Give the sign of a rational number in which

the numerator is negative and the

denominator is negative.

A. negative

B. positive

C. can not determine

D. none of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kSHiBR0mwCz1


Application

6. Can you find the reciprocal of ?

Watch Video Solution

×
2

11

5

55

7. find the reciprocal of  


Can you compare it's reciprocal with the

orignal number?

Watch Video Solution

×
2

11

5

55

https://dl.doubtnut.com/l/_jDzoImiXkNEf
https://dl.doubtnut.com/l/_R4ytOA1PVxwx
https://dl.doubtnut.com/l/_pabUcWFjyThF


1. Moving from start to finish by going from

smaller to bigger rational numbers. 

Watch Video Solution

2. Three monkeys are climbing upstairs. They

can only move ahead if they eat a banana with

https://dl.doubtnut.com/l/_pabUcWFjyThF
https://dl.doubtnut.com/l/_9a6lXkIIHRzt


the common factor of their numerator and

denominator on it. Which of the three

monkeys will be able to reach till the end? 

Watch Video Solution

https://dl.doubtnut.com/l/_9a6lXkIIHRzt

